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Q. 42-46: Read the passage carcfully and choose the best
answer to each question,

Many vears ago. there hived i India a great king called

Jehangir He ruled over a ven big kingdom or cimpire So he was
called an cmperor

The emperor wanted 10 be just 1o all his subjects He

ordered his soldiers 10 tic a big bell in front of the palace Then
he sent the soldicrs 10 even pant of the enpire. They announced

that

if the peoplc had amy complaint they could come to the

palacc and ring the bell The emperor himself wauld listen to

their

(o)

{

(4

complaints. He would gn ¢ them justice

£ Jchangir was called an emperor because

v“

he was 2 great king

-

2y he ruled over a ven big kingdom

3) he lived in India
4) hchived 1n a big empire many vears ago

{3 What was the desirc of Jehangir?

(3)

%,

1) To order hus soldiers

To make many congquests

To be just 10 lus subjects

To rule over a very big kingdom
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The soldiers
(1) called all the people

2y arrcsted all the criminals

(%) rodc away to a distant land

M tied a big bell in front of the palace
Complamt means
(1 complete

(2)  womplexity
(4 objections

(4) disaster
wonld ring the Bell 1
vere arrested

I he e ople
(hy th

(2 they went to the palace

(4 they had any wealth

4)  they wanted justice

Find out the crror i the following sentence

He ordered (1)/ as 1l (2)/ he was (%) sy master (4)

So long as the ram I staved at home Fill in the blank-
(1) continucs (2) 1o continue

(%) continued (4) has been continued

Synonym of the word "Transient’ is-

(1) Permanent (2) Uncertain

(3) Provisional (4) Transitory

Choosc the antonym of the word ‘Fraguality'-

(1) gaiety (2) prodigality

(3) enmity (4) captivity

Choose the correct meaning of the Idiom (in BOLD) in the
sentence given below.

"The students found it hard 10 go at equal speed with i<
professor.’

(1) Getawaywith  (2) Putupwith
(3) Keepup with (4) Race against
. Choose the correct meaning of the ialicized idiom in the
following sentence.
'l am dead against this proposal.’
(1) Tobc slow (2) Todie
(3) Bitterly against  (4) Die while insenice
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